>
A & 0l & AF 2 E A A
20149 S0la LA ==X
SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
PRl FRMEXH (chel & 9l)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
==X 102,779,627 103,657,224 AB77,597
= 64,562,948
< 6,570,810
=2 2,623,770
u 1,339,434
Al 27,682,665
MNASE M XA (MIAEXNDNZUESH) 12,695,972 13,820,514 AN 1,124,542
= 8,056,227
< 696,313
u 475,618
Al 3,467,814
Fol M 12,695,972 13,820,514 AN 1,124,542
= 8,056,227
= 696,313
i 475,618
Al 3,467,814
EPARSELPNE-] 43,756 49,550 A5, 794
101 @14 dl 1,126 1,050 76
04 JIZHHZ2XRHEE S 1,126 1,050 76
OMdHBIZEES X 0IF ol2d]
41,680 x3H «3 *33] 1,126
201 €2l 15,590 17,800 A2,210
01 At 22l 15,590 17,800 22,210
O1. L et==ZH| 8,550
—SXHH LB
7,000,000 x90%<& 2> 6,300
-HHERAE s
50,000& *50F *90%< & 2> 2,250
Ob5.= &l 5,040
e E-E ISV EIEED (=N
7,0003 «4H «152 «128 5,040
O6.2xt=z 2,000
-Moh HIsSX =&XE g
500,000 *2CH 2 2,000
202 O4dl 5,040 8,700 A 3,660
01 = LH 4 Hi 5,040 8,700 A 3,660
OSXEM RFAAHI
60,0003 *4H+3 «73] 5,040
203 YR =&l 9,000 9,000 0
03 AIHZ=XH R =AY 9,000 9,000 0
OFQMEBT Y AMADEX G|
10,000, 0003 *90%<& 2> 9,000
301 gL = 13,000 13,000 0
01 Ml2ZE 6= 10,000 10,000 0




2AM: =0l
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oo =

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
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O2AMNYR SERZS 10,000,000 10,000
09 HALEHIZE A= 3,000 3,000 0
E WY 60,0003 x50 3,000

SSAMISXNELHAMNE (EX) 13,100 36,180 A 23,080
6,550
1,965
4,585

= MW

201 fEt2E | 6,100 11,974 A5,874
3,050

915
2,135

= N W

01 ArR2t2lHl 6,100 11,974 Nb,874
O1.e8t=ZH] 2,896
-Atel2teltia X 29 % 22l 2,896,000 2,896
1,448
434
1,014
O2./5u=Hl 1,524
—“Atedl2el X n=sdl 2 ol 1,524,000& 1,524
762

229
533

O3.2g8=¢ 1,680
-Atdlgle A= 70,0003 »8H 3] 1,680
840

252
588

= Hn W = M W

= W

301 €EtE 4= 7,000 24,206 A17,206
3,500
1,050
2,450

Z W

01 A28 H =0dl= 6,580 22,806 N 16,226
OAtell 2t el At 6,580
-dE % A 2,000,000 2,000
1,000

300
700

== PN N] 2,580,000& 2,580

1,290
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-AE s UEESH 2,000,000 2,000

1,000
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700

09 HALMHI BN = 420 1,400 A 980
OAtdlzlol2d sS4 7,000& 10 63l 420

=z N H = A
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SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
ool EoIME R CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 210
< 63
Al 147
NS=SX MY AS AAL 1,258,048 1,163,500 94,548
i 475,618
Al 782,430
201 L4l 32,361 27,313 5,048
01 At 22l 31,868 26,718 5,150
O1.€8=EH| 12,150
-S|A=SXNXNJEE Let=2H|
5,000, 000& *90%<& 2> 4,500
-SE At Ze MRl
10,0003 200 *90%< & 2> 1,800
-& 2XdE Yet=2Hl
2,000, 000& x90%<& &> 1,800
-5 SXNJE UM S A
4,500, 000& x90%<& &> 4,050
O3.2d==¢ 13,670
-FUANHIA HANT ZAE
70,0003 «2&H #2 Al 2t *4 3] 1,120
-NFASISXNEAM HA=E 11,550
HERAA 70,0003 «15H «53] 5,250
T ARAR 70,000 *15% »6 2 6,300
- EXdE ZMrE 200,000& x53| 1,000
O5.2&Hl 6,048
YNNG Y AREW Z4
7,000 «6H 12«12 6,048
02 23224l 493 595 A 102
O1.332ILHA 493
-RERS 300& *1,000& 300
= 1,930& x100= 193
202 4l 12,480 12,480 0
01 = LH 4 Hi 12,480 12,480 0
O3Z=XXNNE dRF=ANHI
60,000 x6H 32 63| 6,480
OZsSXad S XXX A
60,000 x2H 32 «103] 3,600
ONBIZNSLBRR & a3l &40l
60,000 *40H 12 2,400
301 et A= 96,800 80,000 16,800
06 212toI =2l 04 Hl 10,000 5,040 4,960
OMEISXIE2a AMESAA off 2 A4 B 0F
2 Y SAES 10,000,000 10,000
08 BAZRRAELNS 73,920 64,680 9,240




A FUEX L
M HASE MEOE XN (MISN/IIZMSBLER)
ool EoIME R CER-ED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SREEERFEELT
7,000 40 22 x12& 73,920
09 HAIAHIBEAZ 12,880 10,280 2,600
Ool2s s NET-WORK A &Hg| (4 H
60,000 x38% x2! 4,560
OXEAMI=XNEAM H#HX =0
60,000 282 1,680
OSEAd22lAF W= 0Hl 60,0003 *x11H 43| 2,640
OME 22 HzH QLIHS 3o & A SA!
7,000& x50H x4 3] 1,400
O 2X35Ee dXor2 ol (el2tel)
60,000& x5H x3L x23| 1,800
Os SXNdE 8&Y3 ZILA 2tA
2,000& *100 43| 800
307 212t0| ™ 1,113,907 1,039,907 74,000
1w 475,618
Al 638,289
05 QIZ2tE 2 1,103,907 1,034,907 69,000
O=eAs 22 N92XS8 ALY
15,000, 000& *3JH 2~ 45,000
OZegAMIEXN 2 29H(0|Y)
1,058,907,000& 1,058,907
imi 475,618
Al 583,289
10 MM S X EX 10,000 5,000 5,000
OHMI153 A= X2 Y & Al 10,000,000& 10,000
405 XHAHF S HI 2,500 3,800 A 1,300
01 XAt 2 Z F S| 2,500 3,800 A 1,300
Os =XsdlE 2,500
-ZH AN E 400,000 400
-2 =Z e} 300,000 300
-O| Xt 200, 000& =44 800
-HISFSH (A A S HIotEAE)
1,000,000 =14 1,000
KNEAEXNEAMSIAXN(EX) 56,000 56,000 0
o=t 6,000
Al 50,000
307 212t0| & 56,000 56,000 0]
o 6,000
Al 50,000
10 SIS XIEX 56,000 56,000 0
OXNZ A EXNEANM XA 56,000, 000& 56,000
& 6,000
Al 50,000
ABEX 2 ESAIYE (EX) 54,000 54,000 0
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H

Al

54,000
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37,800
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ASISXAE SAT = (EX)

= M

77,520

15,504
62,016

78,720
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307 21201 A

H
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77,520

15,504
62,016

78,720
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10 AFBIS X2 X

OA2ISXIAIE SAA =& 77,520,000

= M

77,520
77,520

156,504
62,016

78,720

A1,200

SEAtA2IANE(EX)

= Hn A

304,580
152,290

45,685
106,605

295,972

8,608

= mnH

304,580
152,290

45,685
106,605

295,972

8,608

04 0IZtHZ22HsE+

OSe At 22l AL elAt] 304,580,000

= M W

304,580

304,580
152,290

45,685
106,605

295,972
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P

= M
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149,072

147,705
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165,705

6,633
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147,705
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10 AlRIS X2 X
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H
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155,705
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30,632
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23,792

147,705
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= mnH
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440
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= Hn
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206,841

201 fEt2E |

= N H

9
7

1

,459
,357

629

473

9,459

01 At 2t 2l bl

“N A AHIAS ALY B2
9

,459,000&

= Hn A

9
9

,459
,459

9,459
7,357

629

473

9,459

202 o4 Hl

=z N H

,160
679

144
337

2,160
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=W 0l

OXSALE MBI A E XEAFS
6

= W

,160

,160
,679

144
337
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i
i
0
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= MW
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,400
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09 BMAHIEAS

OXSALE MBI A E XEAFS
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,400
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SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
Chel: FOIME R (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 11,201
< 962
Al 2,237
307 glz2tol & 1,899,806 1,718,984 180,822
= 1,463,892
< 130,774
Al 305,140
10 A3l S X2 = 1,899,806 1,718,984 180,822
OXNA A S X MBI ASE XA
1,899,806,000& 1,899,806
= 1,463,892
< 130,774
Al 305,140
AHEXIA 13,864 14,264 A 400
201 L2l 6,484 6,884 A 400
01 At 22l 6,484 6,884 A 400
O1.det=2Hl 3,600
-AEXE Let=ZH|
4,000,0003 x90%<& 2> 3,600
O3.2d==¢ 1,540
“XHEJ|2EAM AR FHY
70,0003 *118 %23 1,540
O5.2&Hl 1,344
-NEXNE HRFE g4
7,000 x2H 8«12 1,344
202 oddl 1,080 1,080 0
01 SLHOYI 1,080 1,080 0
OXEXd HRFEHYI
60,000 x1H »32 63| 1,080
301 et a = 6,300 6,300 0
09 &AL HI B &S 6,300 6,300 0
OX&380Y &I AHI2A(E)
60,000 *35% 12 2,100
OXEAY SAA FA3E F4 0
60,000 «70H 12 4,200
ANEIZAL(BX) 5,782,217 6,638,973 A 856,756
= 4,450,201
= 269,594
Al 1,062,422
101 124 dl 2,564,500 2,909,010 A 344,510
= 1,748,000
= 108,100
Al 708,400
04 D12t Z2XEES 2,564,500 2,909,010 A 344,510
OAEY &2 ZE2RIE NEAS 2,564,500
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20,160

25,200

307 21201 A

= M
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20,160

25,200
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= N W
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957

=z N H
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=z N H
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AN =S
M NASS Ma0d XNA(MISI/I=HEEE)
Helr =M (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 38,400
10 A3l S X2 = 48,000 48,000 0
OMALSE FHESIMEAL 48,000,000& 48,000
S 9,600
Al 38,400
FAHASH(82)(EXR) 300,000 250,000 50,000
=2 270,000
< 10,500
Al 19,500
301 LAz 300,000 250,000 50,000
= 270,000
= 10,500
Al 19,500
01 Ml2ZE 6= 300,000 250,000 50,000
OMASEE FAHEESW =2lAtY
300,000, 000& 300,000
=2 270,000
< 10,500
Al 19,500
HARHOES XA 13,220 13,220 0
301 LA F 11,760 11,760 0
01 Ml28E+06l= 3,000 3,000 0
OL=2AE /2 20,0003 *50H 33| 3,000
09 &AL HIZ &S 8,760 8,760 0
Ok=0l Heul 10,000& x10E 122 1,200
OAAIZ X St otx 2
30,0003 «32+72 128 7,560
307 21201 A 1,460 1,460 0
01 92724l 1,460 1,460 0
ORQESI =83 30,000& 30 900
ORESK =4l 7,000 *40Y 24 560
CS0ASTANERE(EX) 26,570 26,587 A7
= 18,599
< 7,971
307 glz2+ol & 26,570 26,587 A7
= 18,599
< 7,971
10 A3l S X2 X 26,570 26,587 A7
OL=0=XAE 22| 26,570,000& 26,570
= 18,599
< 7,971
AEAd 2 (BEx) 24,879 24,878 1
= 17,415
< 2,239
Al 5,225
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 24,879 24,878 1
= 17,415
= 2,239
Al 5,225
10 SIS X EX 24,879 24,878 1
OX S AE XHE AL 22l 24.,879,000& 24,879
= 17,415
o= 2,239
Al 5,225
=S THAHDN & 350,000 600,000 A 250,000
401 Al HI L £ 0HHI 350,000 600,000 A 250,000
01 Al& H| 350,000 600,000 A 250,000
OZESZSAMIAENZ AIZEXN(2STA) Y
(5-2E Xt) 350,000,000 1A 350,000
KEssds AMALH IR (EX) 30,000 0 30,000
& 9,000
Al 21,000
307 QI2t0| & 30,000 0 30,000
& 9,000
Al 21,000
10 Al SR EX 30,000 0 30,000
OXEXEHE NEESHSAIY
15,000,000 #2004 & 30,000
= 9,000
Al 21,000
ZE20|RE MK (BEX) 10,000 0 10,000
= 3,000
Al 7,000
307 gizto| A 10,000 0 10,000
& 3,000
Al 7,000
10 Al SR EX 10,000 0 10,000
OE20I2= NS ALY 10,000,000& 10,000
& 3,000
Al 7,000
AMNEXNHSH2S(EX) 4,345 0 4,345
o= 869
Al 3,476
202 044 4,345 0 4,345
o= 869
Al 3,476
04 =H 30 bl 4,345 0 4,345
OAMEEXQ I3 4,345,000 4,345
& 869
Al 3,476
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M 20| ZMBET(ANSSN /I ZMEDE)
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SO ZHEEEH(ASEX /I ZHE S E) 50,966, 188 52,147,254 A 1,181,066
= 45,231,168
< 1,879,024
Al 3,855,996
HASHES Atsletd 2 e E 50,966, 188 52,147,254 A 1,181,066
= 45,231,168
< 1,879,024
Al 3,855,996
NASESE JI=dE 2N 243,182 245,060 A 1,878
201 ¢er24l 6,572 6,680 A 108
01 At 22l 6,572 6,680 A 108
Of. ger+gHl 972
“MERY LS|
1,080,000& *90%< & 2> 972
O3.2d=¢ 5,600
~MEEEIAS Y ML
70,0003 «10H 83| 5,600
202 Odl 1,080 1,080 0
01 = LH 4 Hi 1,080 1,080 0
Oda2d RFANH
60,0003 x2&H 3 33| 1,080
301 e A3 235,530 237,300 A1,770
01 MI28E +06l= 235,530 237,300 A1,770
OGFUUOIE SHXUH EsEIRS
63,030,000 63,030
OAMES NEXE ALY 250,000& 690 172,500
NASFRUALEEHSYAIQABEHE(EX) 396,000 379,350 16,650
< 108,000
Al 288,000
301 et d = 396,000 379,350 16,650
< 108,000
Al 288,000
01 MEI2EZE+05l= 396,000 379,350 16,650
ONASTOALLES L HIQULHEE
396,000,000& 396,000
< 108,000
Al 288,000
NASE BS¥AH(ERX) 119,250 119,250 0
< 35,775
Al 83,475
301 et d = 119,250 119,250 0
< 35,775
Al 83,475
01 MEI2EZE+06l= 119,250 119,250 0
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2,357,745
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371,852
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=z N W

301 LEE A= 10,624,356 8,741,998 1,882,358
9,561,921
371,852
690,583

=z N H
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= N H
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22,055
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1,578,467 1,499,090 79,377

1,212,864,000& 1,212,864
1,212,864
OXtae =X 365,603,000& 365,603
292,084
22,055
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= M W

HMBEHSH(EX) 319,004 367,071 A 48,067
287,104
11,165
20,735

= N W

301 LEE A 319,004 367,071 A 48,067
287,104
11,165
20,735

= N W

&= 319,004 367,071 A 48,067
222X HMEMSA

319,004,000& 319,004
287,104

11,165
20,735

= N H

SOHSUAPETAANA(RE) 174,522 0 174,522
116,929

17,278
40,315

= N H

101 Q124 4] 174,522 0 174,522
116,929
17,278
40,315

= Hn A

= 174,522 0 174,522
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1,003,000& 29 x6 & 174,522
116,929
17,278
40,315
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863,816
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SN ZU=XY
M MOHQISNEE(AS =X /HAHEX )

el BOjISTAL JSEY (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 40,500
< 12,150
Al 1,390,798
ZOANATMEBANEISsEBL(EX) 81,000 388,677 A 307,677
= 40,500
< 12,150
Al 28,350
402 RIZ2EX20l A 81,000 388,677 A 307,677
= 40,500
= 12,150
Al 28,350
01 RIZERt2E X 81,000 388,677 A 307,677
O+l BEsHIA(HUsEHD)
81,000,000 81,000
= 40,500
< 12,150
Al 28,350
S5 ZHUESE=EN2 A 1,362,448 3,051,570 21,689,122
401 Al HIZ 2018 1,362,448 3,051,570 A 1,689,122
01 A& HI 1,360,000 3,000,000 A 1,640,000
OS2 ZHASS =X 2 21
1,360,000,000& 14 1,360,000
03 Al S THHI 2,448 5,670 A 3,222
O=+ ZiHeseg=sN2 HAE AERUYI
1,360,000, 000& *0.36/100%50%<& 2> 2,448
HOH =KX 15,474,605 14,014,949 1,459,656
= 148,678
= 2,570,733
& 2,623,770
i} 863,816
Al 9,267,608
WSALD HohA &L AFE(2X) 58,000 58,000 0
< 12,500
Al 45,500
307 glz2+ol & 58,000 58,000 0
= 12,500
Al 45,500
10 AtSI =X 2 X 58,000 58,000 0
OunS At ToHA &AL 58,000,000& 58,000
< 12,500
Al 45,500
SIS 4EQAEBSINRE(BX) 29,831 28,853 978
< 8,949
Al 20,882
307 21201 A 29,831 28,853 978
< 8,949




2N
X ZH -
L= B

el

=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 20,882
10 A3l S X2 = 29,831 28,853 978
Osllels24ERAESAE 29,831,000& 29,831
S 8,949
Al 20,882
3 SHHH 2L (EX) 173,520 162,756 10,764
= 29,498
i 27,558
Al 116,464
307 21201 A 173,520 162,756 10,764
= 29,498
im 27,558
Al 116,464
10 A2l S X2 X 173,520 162,756 10,764
OIS HEEHSZE(01Y) 173,520, 000& 173,520
= 29,498
im 27,558
Al 116,464
ZOHI= XX 1,391,955 1,124,888 267,067
101 1244 dl 38,800 38,400 400
04 D122 2XREE S 38,800 38,400 400
OFML SsSXA MG (oditel &E) 38,800
] 200,000& x20H 9 H 36,000
-2 ¥ 20& 140,000& »20H 2,800
201 Let2d] 232,595 65,848 166,747
01 At 22l 231,540 64,840 166,700
O1. 28284 5,600
“HOHQI=XA R Y2
2,000,0003 «90%<& 2> 1,800
-Z0Hel Xts X EXE 2
2,000& *1,000H 2,000
SHOHOIFRC S U WHAMNE B2 BE
OME 1,000,000 *90%<& 2> 900
“HOHQIEH S 2E #A BRI HMN
30,000 »30H 900
03.29+g 5,740
“EEXY Mol HALg
70,000& *7H 103 4,900
TOHOIA MOIRIY BALT
70,0003 x6H x23] 840
Ob5.=&Hl 4,200
“ZHIHRFE OFAZRX =4
7,0003 x5 102 122 4,200
O6.2xt=z 216,000
“ZOHQ X AR A ANz 66,000




2N
DRSNS (M EX/HSEAHSRE)

el

X ZH
S =

=e =X

FOA=SX R

SA - BB B () - MM - BES Ol &t o San HmEET
C A - SO0 3
1,300,000& 24 A~ +12& 31,200
EEPNESESJV RelR="k]] 700,000 * 104 A %12 8,400
CIEBHEOMCIES 700,000 *1H A +128 8,400
AHZEOHE S 500,000 x 101 & =128 6,000
dE3E 3 700,000 *1JH A 12 8,400
ZHA R 23 300,000 101 2 =128 3,600
- AIRA AXNESS 150,000
FESE3 50,000,000 50,000
INESR=Kc] 50,000,000 50,000
AHMEOSE 3 50,000,000 50,000
02 2324l 1,055 1,008 47
O1.322ILHA 1,055
“Zjel dEFI AVUHE DANASE S
fEHZ 1,085
2 ot 3003 <100+ 12& 360
=P 1,930& 305 128 695
202 44l 5,400 5,400 0
01 = LH Yl 5,400 5,400 0
OFMeI=X 2=
60,0003 x5 32 63 5,400
301 et A3 40,560 38,340 2,220
01 AR 2Z A5 3 17,460 15,240 2,220
OHM=XAIE |Z 17,460
“HOHQMEAIM (9 A) 20,000 *230E 33 13,800
~H B S MEIE (L)
20,0003 =369 *33] 2,160
SO EHII B S A (200 L)
20,0003 *25% *33] 1,500
09 HALAHIEA S 12,300 12,300 0
OEe Fojele & J1gal EFItodl
60,000& »40H 2,400
OEXZEO2 & JIEdHA FIH0HI
60,000& x20H 1,200
O&e = 2 & JsZIItha &It
60,000 «20H 42 4,800
OMS=2HEMA OretEUSE &It bl
60,000 35H 2,100
O&ofel U AMG &L FEFFWNE &IH0
i 60,000 x5H 300
OHMHAH & - SAX A3 IO HI
60,0003 »25H 1,500
11IIEtEA S 10,800 10,800 0
OZOCIEHOAIE AMMBARI AHEH
40,000& *3H 902 10,800

_17_




SN ZU=XY
M MOHQISNEE(AS =X /HAHEX )

el ZOoHI =X X (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 glz2tol & 1,064,600 966,900 97,700
05 RIZHRI &t 3 33,000 33,000 0
OFMeIEE=a Ols=S2xE 29
16,500, 000& »2CH 33,000
10 A3l =X 2 X 1,031,600 933,900 97,700
OXZOMQIMEAS SHUEY X2 (el L Of
oIAlA) 1,500,000& *9IH 4 13,500
OZMLI=RIEHAl 2EHI 30,000, 000 *2CH 60,000
OXNHZEOMA=SXES HE2Y
500,000 «1CH =123 6,000
OAMEOMHRES XNEtSY
500,000& «1CH+122 6,000
Os0telgs g 500,000& =2CH=12& 12,000
OEzFMe 22420 29
17,500,000 *2H A 35,000
OZESHA2SI ZUHAAE M
10,000, 000& *63l 60,000
QXS & 18 L AtZAH (AR EA}L)
22,500,000& 22,500
OFOMIHIHH 2 42,000,000 * 101 & 42,000
OMASHEONMC = - HIESAML 0l8g XA
50,000 *50H x12& 30,000
OZoel MEAL 2| 39,600
“JHel M E Al 1,250,000 *2J04 A« 12& 30,000
-F2AESHH 800,000& »12& 9,600
OXOHEA OlJtH Ol 2 18,000, 000& »23] 36,000
OO MRPA 2ZH XI&
500,000& *9oH A =128 54,000
OLEHZME ANYE L OlsXNIdEH 23
15,000, 000& 15,000
OuUsZHe MEASR 29I 40,000,000 40,000
OHAFMO U JE S 4304 2
15,000, 000& 15,000
OXHMZOHR A3l StW = 15,000, 000& 15,000
OOAEM HJus(EHE 2i3) 2
15,000,000& 15,000
OHUZSZHMY BHISH 2F
15,000, 000& *2H A 30,000
OZMAMSEMO =&H2ldH 29
30,000, 000& 30,000
OHMHUEE SEE 24|
70,000,000 * 104 2 70,000
OZOMHALTCIAY X2 (FHHA)
30,000,000& *17H A 30,000
OXOHA=RIEHAl Xt&FFL 40,000,000 *1CH 40,000
OXOHQl LXelAre (e124dl)
300,000 x 1508 «7 & 315,000

_18_




2N
X ZH -
L= B

el

=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN FE-SA(EA) - HRAY -

HYS

Off &t 24

=

i
2

401 AIEHIZ 2 I

10,000

10,000

01 A& dl

OSZEA HOHAEJAL =

o

1

o

000,000& 14!

10,000

10,000

10,000

ZOHA=ZXIAIE AL = (EX)

2l

Al

537,600

107,520
430,080

515,040

22,560

307 21201 &

n

Al

537,600
107,520
430,080

515,040

22,560

10 AlRISXI2X

OHMASXALE SAMI=F

537,600,000&

H

Al

537,600

537,600

107,520
430,080

515,040

22,560

H1
2
0x
02
=
o
Ju
>
=]
Mo
02
H
P

H

Al

285,714

200,000
85,714

133,500

152,214

307 glztol &

H

Al

285,714

200,000
85,714

285,714

285,714,000&

= M

285,714

285,714

200,000
85,714

285,714

Z Al N

w N

,505,128

713,229
,524,935
,266,964

5,966,934

538,194

307 glz2tol &

Z Al N

»

,505,128

713,229
,524,935
,266,964

5,966,934

538,194

O MEAL2S(01Y) 6

445,128,000&

60,000,000&

Z AL N

= M

w N

,505,128
,445,128

701,229
.524,935
,218,964

60,000
12,000
48,000

5,966,934

538,194

Z B M

35,000
8,750
3,750

22,500

35,000

307 glztol &

N

35,000
8,750

35,000




2H: FoI=XD
B M= XSH(AS =X /HLHESKH)
Sl Zojel S XK (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

m 3,750
Al 22,500

10 Al SXI2X 35,000 35,000 0
OZMHAELE2S AL XA (012) 35,000,000 35,000
8,750

3,750
22,500

=z R

KNHMEOHAHAALSHEH2E(EX) 99,000 99,000 0
20,147
24,000

54,853

Mo

Z B M

307 21201 & 99,000 99,000 0
20,147
24,000
54,853

Z B

10 Al S X2 X 99,000 99,000 0
OXMEBOHIHOJALHEH2H(01)
99,000,000& 99,000

20,147
24,000
54,853

Z RN

o
Ol
04
2
e
>
!
=
o
[
T
Mo
02
HL
P

156,826 156,826 0

43,912
112,914

= M

307 gIz2tol & 156,826 156,826 0

43,912
Al 112,914

H

10 Al SXIE2 X 156,826 156,826 0
OZSSHMUNSXAMEH 22 156,826,000 156,826

43,912
Al 112,914

H

AZEOO SSXALH 2H(EX) 188,720 188,720 0

56,616
132,104

= M

307 21201 & 188,720 188,720 0

56,616
Al 132,104

H

10 AFRISXIE2 X 188,720 188,720 0
OALZMASSTALEHSE 188,720,000 188,720

56,616
132,104

= M

ZOAXATHEANE 2L (EX) 1,525,991 1,402,889 123,102
126,390
98,835

1,300,766

Z AL F

307 glztol & 1,525,991 1,402,889 123,102
< 126,390

_20_




2N
DRSNS (M EX/HSEAHSRE)

el

X ZH
S =

=e =X

FOA=SX R

SN P SA(EN) - MBAY - BES

Off &t 24

=
i

2

= [l

98,835
1,300,766

Z [l 1N

1,525,991

1,525,991

126,390
98,835

1,300,

766

1,402,889

123,102

ZOHC! THIH=EXNSAHH 2H(EX)

Z BN

100

20
50
29

,090
018
,348
724

92,419

7,671

307 glztol &

Z kN

100

20
50
29

,090
,018
,348
724

92,419

7,671

10 Al SX2X

OZOHQ MILSX SAHH 2L (01)
100,090, 000&

Z R

100

100
20
50
29

,090

,090
,018
,348
724

92,419

7,671

0z

©
1M
N
H
fol
>
nx
20
02
HI
P

Z RN

559

,959

127,310
178,500
254,149

523,752

36,207

307 glztol &

Z B

559,959
127,310
178,500
254,149

523,752

36,207

QX FAESAIE 2Z(01)

559,959,000

Z B M

559,959

559,959
127,310
178,500
254,149

523,752

36,207

0
S
o
M
N
hi
ol
>
x
0
02
T
b

Z kM

350,000

70
30
250

,000
,000
,000

255,600

94,400

307 21201 A

Z R

350
70
30

250

,000
,000
,000
,000

255,600

94,400

10 AFRISXIE X

QX SHIESAIE 2Z(012)

350,000,000

350

350
70

,000

,000
,000

255,600

94,400




2N
X ZH -
L= B

el

=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

= K

30,000
250,000

0z

2
e
01
on
0z
il
N
0
Ho
08
T
iy

Z B

400,000
80,000
40,000

280,000

365,

103

34,897

307 21201 &

Z B

400,000
80,000
40,000

280,000

365,

103

34,897

TEMENE 22(01Y)

400,000,000

Z kN

400,000

400,000

80,000
40,000
280,000

365,

103

34,897

0z

2
o
0>
i
ol
[x
m
0]
02
H
P

= RN

344,618
68,924
37,660

238,034

334,

580

10,038

307 21201 &

Z R

344,618
68,924
37,660

238,034

334,

580

10,038

344,618,000

Z B

344,618

344,618
68,924
37,660

238,034

334,

580

10,038

2
e
oh
i
I
P
i
Ho
02
T
Y

Z B

930,000

35,000
472,000
423,000

930,

000

307 21201 &

Z B

930,000

35,000
472,000
423,000

930,

000

930,000,000&

Z R

930,000

930,000

35,000
472,000
423,000

930,

000

0y

H
03
P
H
>
]
Ho
02
H
P

= M

283,333

85,000
198,333

283,

333

307 21201 A

283,333

283,

333

- 22 -




2N
DRSNS (M EX/HSEAHSRE)

el

X ZH
S =

=e =X

FOA=SX R

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

H

Al

85,000
198,333

10 Al SXI2X

OZ=ENELAZ 29

283,333,000&

n

Al

283,333
283,333

85,000
198,333

283,

333

=)
0x
0z
2
re
S
>
H
10
=]
=
N
>
e
H
B

= N

50,000

7,500
42,500

50,

000

307 gl2tol &

t

Al

50,000

7,500
42,500

50,

000

10 AlRIS X2 X

OGEZH JIALE=R0] THAAY
50,000,000

H

Al

50,000

50,000

7,500
42,500

50,

000

>
k|
0
2
e
Pl
o
£
sl
Mo
02
H
P

= M

106,672

21,336
85,336

,664

307 glz2tol ™

H

Al

106,672

21,336
85,336

,664

10 Al S X2 X

OXNEEHWAXAHE 2 106,672,000

Mo

= H

106,672

106,672
21,336
85,336

,664

H
>
N
03
2
e
J
-
sl
Mo
02
H
k4

= M

840,000

588,000
252,000

800,

000

40,000

307 21201 &

= M

840,000

588,000
252,000

800,

000

40,000

840,000,000&

= H

840,000

840,000

588,000
252,000

800,

000

40,000

OIS At 22l AL (B X)

H

Al

38,500

9,625
28,875

33,

200

5,300

307 glztol &

= M

38,500

9,625
28,875

33,

200

5,300

10 Al SXI2X

OZ OIS At 22l Ar e 38,500,000

2l

38,500

38,500
9,625

33,

200

5,300

_23_




2N
X ZH -
L= B

el

=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

Al

28,875

ZOHRIIEXAMHR2E (EX)

H

Al

181,000

90,500
90,500

,000

,000

307 21201 &

2l

Al

181,000

90,500
90,500

,000

,000

10 AFRIS X2 X

OIS EEHS S 181,000,000

H

Al

181,000

181,000

90,500
90,500

,000

,000

THOHZ OH

o
oy
I
m
0T
Mo
H
40
=]
Ho
02
HT
B

Al

26,620

6,655
19,965

22,

000

,620

307 giztol &

H

Al

26,620

6,655
19,965

22,

000

,620

O
=
-
0
2
ro
i
1
o
0z
A0
H
H0
=
0
r 02

6,620,000&

= N

26,620

26,620

6,655
19,965

22,

000

,620

= MW

185,848
148,678
11,150
26,020

,992

42,

856

307 glztol &

= W

185,848
148,678
11,150
26,020

,992

42,

856

OZZGAIZTZ 042l SFOFAIHA AFS
185,848,000&

= N W

185,848

185,848
148,678
11,150
26,020

,992

42,

856

FOHQMEBALRRA(ER)

=

30,680

9,204
21,476

29,

900

780

307 glztol &

= M

30,680

9,204
21,476

29,

900

780

50,000& »236H

= M

30,680
30,680

11,800

3,540
8,260

29,

900

780

_24_




2N
X ZH -
L= B

el

=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

-9 ef =l 50,0003 *236H

-AZZ &l 15,0003 »236H

= ALY 15,0002 236 %

H

Al

= H

H

Al

11,800
,540
8,260
,540
1,062
2,478
3,540

1,062
2,478

w

w

Al

50,000

10,000
40,000

50,

000

307 glztol &

Al

50,000

10,000
40,000

50,

000

10 AFRISXIE2 X

OXMEMANSE XANEXNHFHAH2S
50,000,000

H

Al

50,000

50,000

10,000
40,000

50,

000

04
2
e
0z
1]
=
x
tm
B>
p=|
-
w
0z
11
0
J
oy
pal
{0
HT
P

Al

10,000

3,000
7,000

10,

000

307 glztol &

H

Al

10,000

3,000
7,000

10,

000

OZOMHAUMEALE AT NHEHSHAZAR

10,000,000

= N

10,000

10,000

3,000
7,000

10,

000

= MW

,407,072
,086,375
412,590
,908,107

13,659,513

2,747,

559

ZOHOtSTHERNZ(EX)

= MW

8,594
3,016
1,673
3,905

920,951

97,

643

307 glztol &

= MW

,018,594

713,016
91,673
213,905

920,951

97,

643

10 AFRISXIEX

OZOotSHEX = 1,018,594,000&

o

,018,594
,018,594

713,016
91,673

920,951

97,

643

_25_




SN FO

PSP N |

L= B o
=0

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

| Al 213,905

HHSSAUMMESA(BX) 8,953 4,914 4,039
4,475
1,342
3,136

= MW

301 YetE A S 8,953 4,914 4,039
4,475
1,342
3,136

= MW

ol = 8,953 4,914 4,039
MUE2E 8,953,000& 8,953

4,475
1,342
3,136

= N H

SHE Z0HQ FHHZASE(EX) 34,200 38,000 A 3,800
17,100
5,130
11,970

= HnH

402 QI2tXE201 & 34,200 38,000 A 3,800
17,100
5,130
11,970

=z N H

e
e
|'\.1
>
rt
H
P

34,200 38,000 23,800
34,200,000& 34,200

17,100
5,130
11,970

O
O
=]
i
0z
2
e
I
e
=
FA
=
R

= Hn

ZOHATHSHIXI R (Ex) 7,141 9,407 A2,266
5,713
429
999

= M W

301 €EtE &= 7,141 9,407 A2,266
5,713
429
999

= M W

01 A28 H =062 7,141 9,407 N2,266
OZOH QI XA SHHI X & 7,141,000 7,141
5,713

429
999

= N W

S8 MAS 2TSHIX(EX) 21,671 21,671 0
,502
15,169

= M
o

301 LELE A= 21,671 21,671 0

,502
Al 15,169

H
o

01 AR 2ZH =53 21,671 21,671 0

_26_




2N
X ZH -
L= B

el

[SX/HAAHNSKH)

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

(=]

b

I=)
=

HIXI&

21,671,000&

= M

21,671
6,502
156,169

= N H

12,146
9,717
729
1,700

14,749

A2,603

= mnH

12,146
9,717
729
1,700

14,749

A2,603

12,146,000&

= Hn

12,146
12,146

9,717
729
1,700

14,749

A 2,603

= N

1,073,863
646,705
83,148
344,010

1,005,840

N21,977

= N H

1,073,863
646,705
83,148
344,010

1,005,840

A21,977

1,073,863,000&

= N W

1,073,863
1,073,863

646,705
83,148
344,010

1,005,840

N21,977

Z N W

914,330
640,030

82,290
192,010

925,165

A~ 10,835

= MW

914,330
640,030

82,290
192,010

925,165

A~ 10,835

914,330,000&

= M W

914,330

914,330
640,030

82,290
192,010

925,165

A~ 10,835

Zoelogd XA (R

=)

Z W

254,854
203,882
16,292
35,680

448,471

A193,617

301

1o
e
H
0z
oy

254,854

448,471

A193,617
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AN =S
HF: HOL=EXNSE(AMISA/FHLHSKE)
Chel:r ROjQI MO & (B9 ®R)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 203,882
< 15,292
Al 35,680
01 MEIBEE 253 254,854 448,471 A 193,617
O&oerel=dl XI& 254,854,000 254,854
= 203,882
< 15,292
Al 35,680
oSG (BEX) 383,922 351,648 32,274
= 191,961
< 57,587
Al 134,374
307 2Iztol ™ 383,922 351,648 32,274
= 191,961
< 57,587
Al 134,374
10 At =S X2 X 383,922 351,648 32,274
OO =X Xl A 383,922,000& 383,922
= 191,961
< 57,587
Al 134,374
Zojoldersd AN AG (B E) 748,176 534,851 213,325
= 374,088
< 112,225
Al 261,863
101 1244 dl 748,176 534,851 213,325
= 374,088
< 112,225
Al 261,863
4 D12t ZE2XREES 748,176 534,851 213,325
OFofel Lot AR ALY ClHH & 2B HI
748,176,000& 748,176
= 374,088
< 112,225
Al 261,863
ZOHESXI(HIY)(EX) 4,063,868 3,450,388 613,480
= 2,844,706
< 365,749
Al 853,413
307 glz2+ol & 4,063,868 3,450,388 613,480
= 2,844,706
< 365,749
Al 853,413
10 M3 SXREX 4,063,868 3,450,388 613,480
OFOM EsXA(HII2Y) 4,063,868,000& 4,063,868
= 2,844,706
< 365,749
Al 853,413
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2N
X ZH -
L= B

el

= A

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

OHOIH S X (EX)

= Hn W

7,701,043
5,390,730

554,475

, 755,838

5,684,850

2,016,193

= N H

7,701,043
5,390,730

554,475

, 755,838

5,684,850

2,016,193

7,701,043,000&

= N W

o N~

,701,043
, 701,043
,390,730

554,475

, 755,838

5,684,850

2,016,193

=2}
ng
e
>
o
HT
FA

=z N W

19,267
13,487
1,734
4,046

19,173

94

307 glztol &

=z N W

19,267
13,487
1,734
4,046

19,173

94

o

|
19,267,000&

= N H

19,267

19,267
13,487
1,734
4,046

19,173

94

02

r°
g
o
H
P
pa]
o
H
P

Al

102,415

30,725
71,690

102,415

307 glztol &

H

Al

102,415

30,725
71,690

102,415

10 Al S X 2X

ox

o

SESsEXIAMUIAXNR

=

102,415,000&

= M

102,415

102,415

30,725
71,690

102,415

0x
0z
2
e
T
z
=
0R0
bl
0
>
R
H
FA

= M W

6,000
4,200

540
1,260

10,000

A 4,000

307 21201 &

= N W

6,000
4,200

540
1,260

10,000

A 4,000

10 AFRISXIE2 X

O&HM EMHIEN

{0

At

2 6,000,000&

6,000
6,000

10,000

A 4,000
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2N
X ZH -
L= B

el

[SX/HAAHNSKH)

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

= Hn W

4,200
540
1,260

= N

9,246
7,397

555
1,294

5,900

3,346

307 21201 A

= 0N W

9,246
7,397

555
1,294

5,900

3,346

10 AFRIS X2 X

O2EHM dH=AMHAXE

OZEHM dH=AYHEIHEXE

ha

5,246,000&

4,000,000&

= N W

= N H

9,246
5,246

4,197
3156
734

4,000
3,200
240
560

5,900

3,346

= Hn A

27,383
19,168
2,465
5,750

21,120

6,263

307 glztol &

= mnH

27,383
19,168
2,465
5,750

21,120

6,263

10 At2l S X &2
OZ0ots

ES
=
e

QaeladgidE

27,383,000&

= M W

27,383
27,383

19,168
2,465
5,750

21,120

6,263

02

0
Mo
02
[N

[mn

—

ol

[m]

r

i

X H) (O1EH/ DI EE)

72,319

74,394

N2,075

S
rt
oy
o

W

(m]

[

i

paa

[}

~

72,319

74,394

A2,075

!
x
H0

02
=

9,619

6,174

3,445

N
o
=

e

FD

rc

0
==

9,619

6,174

3,445

o

o
o
O O W

>

O O O

JT 4T 4T 40

oy

=
o
<l
4

fol

il
u

[mm

x x

H0

=
S

0o
pall

Mo

Ho 08

x

Ho

=

02 08

W

02

0H

i}
e
e
Ol

fu

]3]
o o
oy

>

Mo

o
=

il
0x
Hr
>
>

[}

0

M0

02

5

(@]

Hl 4,180,000 «95%<& 2>

1,680,000

132,000& »2CH x 122

200,000&
sS4l

,000& »12&

8,819
3,971
1,680
3,168
800
200

600

5,694

480

3,125

320
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SA - BB B () - MM - BES Ol &t o San HmEET
A=A 55,200 60,720 A5,520
202 O4dl 55,200 60,720 A5,520
01 2Lhottl 55,200 60,720 ~5,520
OFYRFANL 20,0003 23«10«12 55,200
=2l 7,500 7,500 0
203 YR =2l 7,500 7,500 0
01 JI22E S =8H 3,300 3,300 0
OJZ2HERFIHI(2E) 3,300,000 3,300
04 FENSEHR=LH| 4,200 4,200 0
ORMSAHSERY| (Z A :249)
350,000& =128 4,200
HRasS(FUSX) (MBS /=S EE) 5,720,023 5,760,278 A40,255
HEHHKE 5,720,023 5,760,278 A40,255
JIEtH HNES 5,720,023 5,760,278 A 40,255
701 JIEISI AN &S 5,720,023 5,760,278 A 40,255
01 JIEtSIHE &3 5,720,023 5,760,278 A 40,255
OY=2=HEEZA 5,720,023,000& 5,720,023




